Negative Zahlen Variante 6 Klasse: Datum:

Subtraktion bis 100 Blatt 87 Name:

@ a) (+64) - (-29) = b) (-39) - (+39) =
c) (-78) - (-43) = d) (+23) - (-66) =
e) (-61) - (+33) = ) (-53) - (-55) =

@ a) (+36) - (-21) = b) (-33) - (#52) =
c) (-96) - (-48) = d) (+24) - (-56) =
©) (-69) - (#21) = D (-an) - (-s8) =

3 a (+39) - (-26) = o) (la43) - (453 =
© (-100) - (-50) = RC R
®) (-49) - (+a4) = D (s - ()=

@) a (+55) - (-38) = o) (La0) - (+a1) =
© (-70) - (-29) = D v29) - (39 =
® (-21) - (+26) = e - e o=

O D cay - - -
9 - (-54) = -6 DV (va3) - (ae) =
€) (.44 - = -72 0 - (-55) = 24
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Negative Zahlen Variante 6

Subtraktion bis 100 Blatt 87

@ a) (+64) - (-29) = 93 b) (-39) - (#39) = -78
) (18) - (43 = 35 V29 - (ee) = 5o
e) (-61) - (+33) = -94 ) (-53) - (-55) = 2

@ a) (+36) - (-21) = 57 b) (-33) - (#52) = -85
c) (-96) - (-48) = -48 d) (+24) - (-56) = 80
e) (-69) - (+21) = -90 ) (-41) - (-58) = 17

@ a) (+39) - (-26) = 65 b) (-43) - (#53) = -96
© (-100) - (-50) = -50 D (+a3) - (-57) = 100
e) (_49) - (+44) = -93 f) ('32) - ('71) = 99

@  a (+55) - (-34) = @80 o) (L40) - (+a1) = -1
9 (100 - (-29) = a1 V29 - (39 = g
® (-27) - (+26) = 53 D o- 19 = 2

® @ sy - 2y = w0  (ay - (o) -
9 (o) . (-58) = -6 D (+a3) - (-a) = 89
€) (.44 - = -72 0 - (-55) = 24
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